Ford Circles for Fixed Arithmetic Lunar Cycles

2X yerms( mean month as exact h m s = exact fraction of day >29 days as full months / months per cycle to 2000, seconds >29d 12h 44m

At 2T ST A= 8 151 15368750

.530598520511096 91(12h 44m 3+1059/1487s = 789/1487, 3.712

.530598052851182

88( 12h 44m 3+483/719s = 763/1438, 3.672

530597552195824 85( 12h 44m 3+291/463s = 737/1389, 3.629

530597014925373 82( 12h 44m 3+39/67s = 711/1340, 3.582

.530596436870643 79( 12h 44m 3+687/1291s = 685/1291, 3.532

530595813204509 76( 12h 44m 3+11/23s = 659/1242, 3.478

.530595138306790 73( 12h 44m 3+501/1193s = 633/1193, 3.420

530594405594406 70( 12h 44m 3+51/143s = 607/1144, 3.357

530594135802469 * Hebrew calendar molad 1586( 12h 44m 3+1/3s = 13753/25920, 3.333

530593607305936 67( 12h 44m 3+21/73s = 581/1095, 3.288

530592734225621 64( 12h 44m 3+111/523s = 555/1046, 3.212

530591775325978 61( 12h 44m 3+129/997s = 529/997, 3.129

530591259640103 | = * 119( 12h 44m 3+33/389s = 1032/1945, 3.085
.530590717299578 58( 12h 44m 3+3/79s = 503/948, 3.038
530590146182999 )= 4 113( 12h 44m 2+1826/1847s = 980/1847, 2.989
530589543937709 55( 12h 44m 2+842/899s = 477/899, 2.937
530588907947399 y * 107( 12h 44m 2+514/583s = 928/1749, 2.882
.530588235294118 52 yerms (YLC) 52( 12h 44m 2+14/17s = 451/850, 2.824
530587946071718

.530587522713507 » average of 52+49yerms 101( 12h 44m 2+1258/1651s = 876/1651, 2.762

530586987270156
530586900560252

530586766541823

Gregorian EASer oSt M R RS0 Lo RIS

49 yerms 49(12h 44m 2+62/89s = 425/801, 2.697

530585106362979 46( 12h 44m 2+26/47s = 399/752, 2.553
530584192439863 » * 89( 12h 44m 2+46/97s = 772/1455, 2.474

.530583214793741

530583083773045

530582959641256

530582166543847 >

530581807581694

530581039755352 I 40( 12h 44m 2+22/109s = 347/654, 2.202
.530580240460010 N 117(12h 44m 2+254/1913s = 1015/1913, 2.133
530579825258141 y 77(12h 44m 2+122/1259s = 668/1259, 2.097
530579399141631 Y/ 114( 12h 44m 2+14/233s = 989/1864, 2.060

530578512396694 37(12h 44m 1+119/121s = 321/605, 1.983

.530585962652930 >

95( 12h 44m 2+974/1553s = 824/1553, 2.627

43(12h 44m 2+274/703s = 373/703, 2.390
Cassidy-Dee Easter computus 99611( 12:44:02.378 = 864071/1628531
25 saros 341( 12h 44m 2+82/223s = 2958/5575, 2.368

83( 12h 44m 2+406/1357s = 720/1357, 2.299

Lunar Calendar Mean Month as Fraction >29 Days = Proportion of Full Months per Cycle

530577576443941 108( 12h 44m 1+797/883s = 937/1766, 1.903

Analysis by Dr. Irv Bromberg, University of Toronto http://individual.utoronto.ca/kalendis/leap/#ford



